
Corrigé NSI

2022 sujet 10

Exercice 1

def occurrence_lettres(phrase):

dico = dict()

for c in phrase:

if c in dico:

dico[c] += 1

else:

dico[c] = 1

return dico

Exercice 2

def fusion(L1,L2):

n1 = len(L1)

n2 = len(L2)

L12 = [0]*(n1+n2)

i1 = 0

i2 = 0

i = 0

while i1 < n1 and i2 < n2 :

if L1[i1] < L2[i2]:

L12[i] = L1[i1]

i1 = i1 + 1

else:

L12[i] = L2[i2]

i2 = i2 + 1

i += 1

while i1 < n1:

L12[i] = L1[i1]

i1 = i1 + 1

i = i + 1

while i2 < n2:

L12[i] = L2[i2]

i2 = i2 + 1

i = i + 1

return L12


